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Attempt any five questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Define; Cohesive and adhesive forces.

What is radioactivity? State its types.

What is ultrasonic sound?

Define; Co-efficient of thermal conductivity.

State Newton’s second low of motion.

State Hook’s law for elasticity.

Velocity of a sound wave is 330m/s .If frequency of a sound wave is 10 Hz;
calculate wave length of a wave.

Define; refractive index of water.

Write the value of specific heat of water at room temperature.
Define; Polarization of light.

Draw and label; micrometer screw and define L.C.M. for it.

OR
Define; Accuracy and precision. Explain different types of errors with
example.
Write fundamental units in S.I.

OR

Explain with suitable example ; Derived units
State Newton’s first law of motion and explain how it define inertia State

different types of inertia with example
OR

Prove for uniformly accelerated motion; v = u+at, 2ad =v2u’
(d=displacement, u= initial velocity, v=final velocity, a= acceleration.)
Explain how can you measure surface tension of liquid in laboratory (with
figure)

OR
State Stoke’s law for viscosity and explain terminal velocity of sphere in

viscous medium. Write formula for terminal velocity, explain meaning of each

terms.
(1) Define; Young’s Modulus.
(2) Define; Surface energy and write S.I. unit.
OR
(1) Define; Modulus of rigidity.
(2) Explain in short effect of temperature on surface tension.
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There is a tube lying in a horizontal plane having a diameter of 1 cm, water
flows in a tube at the rate 12cm/s. If viscosity of water is 0.01CGS unit and
density of water is 1CGS unit. Calculate Renold number.

OR
Calculate the surface tension of water that rises to a height 1.5cm in a
capillary tube of 2mm diameter (density of water is CGS unit and
g=980CGS, angle of contact is 0° .

State difference between heat and temperature.
OR
State any six properties of nano material.
State any eight applications of nano technology
OR
Explain convection and conduction for heat transfer
(1) What is interference of light? State its types.
(2)State Sabine’s law for reverberation of sound. Explain meaning of each
term.

State properties of a and 3 radioactive rays

The total area of glass window pane is 0.5m” .Calculate how much heat
conducted per hour through the pane if thickness of glass is 0.6cm ,the inside
temperature is 23°c and outside temperature is 2°c. k for glass is 1.0 W/m K

State difference between longitudinal waves and transverse wave
Pitch of micrometer screw is 0.5mm .If total no of divisions on circular scale
is 50, calculate L.C.M. of micrometer screw.
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